=LPDB

3UDFRZQLN 5RINiDG  GU 3UDX]QHU 7RPDV] 7\J

o

™

=

n

A 7N

o) 7HFKQINL LQIRUPDINFTQH Z TDU]a61DQIX

x EH]JSIHFTHEVIZHP SIDF\ Z Gl 3UDX]QHY

I 7RPDV] =DIGFLD RQ (LQH E
%, =%/

—_

o3

=

)

7\6] 7N 7\G] 7™ 7™
2FKIRQD ZiDVQRGFL LQIHIHNIXDIQHI G SHGHXIRRJID Z GV 2FKIRQD ZiDVQRGF. LQIHIHNIXDIQHI GU 3UDX]QHU OHIRG\ VIDINVINF]QH Z SHGDJRJILFH OHIRG\ VIDINVINF]QH Z SHGDJIRJILFH
3DXJQHI 7RPDV] %15 = 3UDX]QHU 7RPDV] = 7RPDV] %15 = IDE  GU 3UDX]QHU 7RPDV] = IDE  GU 3UDX]QHU 7RPDV] =
=DICFD Z W\ELH JGDIQ\P 33- = = =DICFD Z W\ELH JGDIQ\P 36 7 -20387(52:% 36 /

a =DIGFID Z I\ELH JGDIQ\P =DIGFID Z I\ELH JGDIQ\P =DIGFID Z I\ELH JGDIQ\P
= 7\G]
W 2FKIRQD ZiDVQRGFL LQIHIHNIXDIQHI G ™
< 3DXJQHI 7RPDV] %15 =
- ‘ ! 3HGHXIRIRILD GZ GU
=DIGFID Z I\ELH JGDIQ\P X1 SRPDH 2
33:- ¢ &
N JDICFD P
=DICFLD Z IELH JGDIO\P
a) 7N 7N
L OHIRG\ VIDINVINF]QH Z SHGDJIRJLFH OHIRG\ VIDINVINF]QH Z SHGDJIRJILFH
oy IDE G 3UDX]QHU 7RPDV] = IDE  GU 3UDX]QHU 7RPDV] =
I .20387(52:$% 36 / .20387(52:$% 36 /
o

=DICFLD Z W\ELH JGDIQ\P

=DICFLD Z W\ELH JGDIQ\P




